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Systems of Equations Word Problems Substitution Practice

Solve the system of linear equations.
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For all problems do the following:
e Define variables
Write a system of equations that model the problem

o
e Solve for each variable
e Write a sentence to describe the meaning of your solution
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3) You collect baseball and football cards. Your uncle has an old collection of 360 cards that he gives to
you. The collection has 30 more baseball cards than twice the number of football cards. How many of

each type are in your uncle’s collection?
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4) Students at Dearborn High want to order shirts with their school logo. T-Shirts Plus charges $9.90 per shirt

plus a setup fee of $43. Shirts and More charges $8.40 per shirt plus a $58 set-up fee. How many t-shirts do
you need to order for the t- shirt company’s total cost to be equal?
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Find the product of the following binomials. Write your answer in standard form! ' L
1) (6x +2)(2x + 8) 2) (5v+4)(3v—16)
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